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83 | Which of the following does not obey (©) V(CH),
ES o Tulg @) Mn(CHy),
(A) CrCO), 87.  For an enzyme catalyzed reaction,

7)) Mn(CO) slope and intercept of Badie- Holstec

plot are 3x10* and 0.5, respectively.

(©) Fc({.‘()]g{NU]: If initial concentration of free enzyme

(D)  Cr(NO), is 2 mol dm?, the catalytic efficiency
84.  The following data was obtained for the of the reaction 15:
decomposition of compound at 580°C (A) 0.1 (B) 0Y
A (moldm’) 0.50 .10 248 (C) 0.25 (D) 0.3
e 4280 885 174 g8 Match the entries in Column I and
. ’ - g .,"rll X cele . O 4 "]—"-."."
The order of reaction is; Iz @ 'Iv Column Il and select the cor
(A) 0 B) 1 answer from the codes given belov
) 2 D) A B Column - | ‘ il Column -1}
—-a~ = - - : : - t [ ; : p
85. In coupling reaction of an P ‘Pum.lhnmi group ‘ 1| ;
. ] interconversion |
organostannane with an aromatic || b o)
; : . . : Q | Synthon 24 1,3-Dithiane:
triflate in the presence of Pd(PPh,), <N > | ; ‘
1s named as: R [ Carbonyl equivaient ‘ 3 | Henzoin
: . S| Thiazolium sa |4 | Retrosynthetic
(A)  Stille coupling Thiazolium salt {4 i \_t:l( syntheti
| dia _'-f'.‘\'iLS

(B) - Negishi coupling
: Codes:
(C)  Ullmann coupling

P AR R $
(D)  Sonogashira coupling

(A) 3 2 | 4
86.  Which of the following can be easily .
oxidised? AB) 4 1 -\
(A)  Ni(CH,), ) 1 3 4 .
(B) Cr(CH,), M 2 - 4 3 '

e —

iy

Paper-11 : 20
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The JUPAC name of the product “X”

of the following reaction is

52

KO(CHy;
1-Chloro-3,3-dimethylbutane———— "X
HOC(CH,),

(A) 3,3-dimethyl-1- butene

(B)  2,2-dimethyl-3-butene

(C) tert-butyl chloride

(D) Isopentyl chloride 63.

60. Whatis ‘X’ in the following equation?

27

2 4 3 1
TAI+'X'— [P+ n

(A) H (B) -

€ .

(D)
61. For FCC lattice, which of the
following Miller indices are not
possible?

(A) 110

(©)

(B) 222

il M) 31

62. The TUPAC name of the following

compound is :

Paper-I1

GET IT ON
Google Play

(A) cis—1-Bromo-2-methylcyclo
pentanol

(‘[;;/'rrans—_“--Brumn- I methylevelo
pentanol

(C) cis — 2-Bromo-1-methylc
peritanol

(D) trans-1-Bromo-2methylcyclo
pentanol

Given below are two statement

Statement I: Ce’' (') and Yb

are colorless because the:

absorb in the visible regioi

Statement 11: The solution o
i1s intensely colored
transitions

In light of the al

choose the most approp

from the codes given |

(A) Joth Statemey
LI are correct
B)  Both State
Il are incor
(C) Slates
,r“_‘l'lﬁ'\.‘liu:i: 111
(D) Statement I is inco

Statement I1 is corre
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24.

Tonic strength of 0.6 molal BaCl,

aqueous solution is

(A) 18 @®) 08

0.5

0.9 (D)

©

An organic compound in its 'HNMR
showed signalsat 55 1.11 (triplet,3H),
1.16 (doublet, 6H), 3.19 (m, 1H) and
3.41 (g, 2H). The EIMS showed 2 base
peak and m/z 88. Its IR spectrum
showed a characteristic peak at 1150

em™. The compound is :

(A) Diisopropyl ether

(B) Ethylisopropylamine
(C) Ethylisopropyl ether
(D) N-Ethylisopropy! ether

In the M, X, type cluster (M is d' metal
ion), the M-M bond type is :

(A) Single
w/ Triple

(C) Dative

(DY Quadruple

Consider the following cell, with
standard free energy change (AG) for
the reaction being —196.5 kJ. What is
the EMF (E) of the cell?

GET IT ON
Google Play

Total Number of Fages: s«

8
Ca(Hg)»Caso..-EHzOm I

Cds()l{sui) ' ngqo" ’ Hg

Match the entries in columns | and II

and select the correct answer from the

'_“‘(folumﬂ.—— 1

One Bond

A) 203V

(B) 118V

() 100V

(D) 1.02V
25.

codes given below:
[ Column -1 '
P [AMBC ||

rearrangement

R | ,!\bsoﬁrhrity-__
s AaMQC
Codes:

i'l
(A) 3
B) 1
@) |
(D) 4

Paper-11

Q |Mclaffterty

Q

Mass

coupling
| Electronic

| absorption
spectroscopy

C, H-correlations

\1!’1'&’.\'3[‘.’01}‘;;_"%.’7”

01-D
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